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Q.1A (20 points)    Choose the correct answer    

1) The value of the expression 
3 6

3

x y

y




  for  2x    and  3y     is:             

      A) 2  

      B) 4  

      C) 2  

      D) 12  

 

 

2) Find the midpoint of line segment between the points  3, 6  and  11,12           

      A)  4, 3  

      B)  7, 9  

      C)  4, 9   

      D)  4,3  

 
 

3) The product of   2 6x x  is:                          

      A) 2 4 12x x   

      B) 2 8 12x x   

      C) 2 4 12x x   

      D) 2 8 12x x   
 

 

4) Which expression is equivalent to  
2

3 6x   ?                     
 

     A) 23 36 36x x   
     B) 29 36 36x x   
     C) 29 36 12x x    
     D) 29 18 36x x    
 

 

5)  Factor the following expression completely 3 23 12 4x x x                 

     A)   23 1 4x x   

     B)    3 1 2 2x x x    

     C)   3 22 3x x   

     D)   2 2 3x x   

 
 
 

You must write the correct answer to each question in the box below 
 
 
 
 

 
 

Question 1 2 3 4 5 

Answer      
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A6)  Find the distance between the points  0, 3P   and   4,0Q                 

A) 25  

B) 5   

C) 1   

D) 7   

 

7)  Find the domain of the expression 1x                

      A)  1,     

      B)  1,  

      C)
 

 1  

      D)
 

 1,   

             
 

8) Find the equation of the circle with center  2, 5 and radius 2 .                     

A)    
2 2

2 5 16x y     

B)    
2 2

2 5 2x y     

C)    
2 2

2 5 4x y     

D)    
2 2

2 5 4x y     

9) Find the equation of the line passing through the point  1,4  and has slope = 0.              

      A) ( 4) ( 1)y x    

      B) 1x    

      C) 3x y   

      D) 4y   

 

 

 

10) Find the slope of the line passing through  5,2  and  4, 6               

      A) 
9

8
  

      B) 4  

      C) 
8

9
  

      D) 
2

11


 
 

You must write the correct answer to each question in the box below 
 

 

 

 

 

Question 6 7 8 9 10 

Answer      
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Q.2A (3+2+2 points):   Factor the expression completely:             

a) 4 3 25 6x x x   

 

 

 

 

 

b) 2 264 9x y  

 

 

 

c) 24 11 3x x   

 

 

 

 
Q.3 (4+4+4 points):  Simplify the following expressions: 

a) 

 3
2 6

6 3

20

5

x y

x y





 
 
 

            

 

 

 

 

 

 

b)  10 8 4 3x x                     

 

 

 

 

c) 
4432

3

x

x
     ; assume x is positive 

 

 

 

 

Q.4 (4 points): Rationalize the denominator: 
3

5 2




. Show your steps and don’t use a calculator  
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Q.5A (6 points): Find an equation of the line passing through  8, 4 that is perpendicular to the 

line 4 5 12x y   

 

 

 

 

 

 

 

 
 

 

Q.6 (7+4 points): Perform the indicated operation and simplify: 

a) 
2 2

2 2

7 12 4
  

2 3 1

x x x x

x x x

  


  
                                                       b)   

3
2 4x                          

             
 

 

 

                     

      

 

Q.7 (7+6 points): Solve the following equations: 

a)  
2

5 1 3

2 2x x x x
 

 
         

 

 

 

 

 

 

 

 

b)      2 1 3 3 1x x x       

 

 

 

 

 

 

Q.8 (7 points): Use a table of points to sketch the graph of 4 2y x 
                     

 

           Show the x-intercept and the y-intercepts. 

 
 
 
 
 


